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OFMEA 12 11,568
-J=3 41,6808 * 1Y = 2002 8,336
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OFUXXHEH 2] 4,460
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SM: MotE
HE: MOIS AZFY
& FUSHEN A CEERED)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
02 RIZIOITHOH 2 & = 2,000 2,000 0
Oglztel THol ol &, =+ 24 2,000
KSR ITALS 19,172 30,511 211,339
KNI RIIALSY 19,172 30,511 A 11,339
101 14l 14,172 25,211 A 11,039
04 JI2ZtHZ22 a2+ 14,172 25,211 A 11,039
OS"YSEIl Ko=) 2y
41,680 * 20F = 103 8,336
OANINMNHZE=S SASZEEHS o2
41,680 * 10F = 103 4,168
OJzgHZZXHd R
41,680 * 209 = 23] 1,668
201 Let2d| 4,000 1,400 2,600
01 At 22l 4,000 1,400 2,600
OFA2EE & HMxk2 S 7&Hl 3,000
Oxzd 224 FHIXH= 1,000
206 M= Hl 1,000 900 100
01 =4l 1,000 900 100
Oz ZZXHE MHaHl 1,000
AotE AR FRIHAAY 20,000 35,000 A 15,000
A2 FHEHAAY 20,000 35,000 A 15,000
A2 FHEAAY 20,000 35,000 A 15,000
401 Al HIZ 2018 20,000 35,000 A 15,000
01 A& HI 20,000 35,000 A 15,000
OAIJHAl SE E=AMZ A 20,000
HY I ZH (Mots) 868,161 873,186 A5,025
el 2 736,388 711,875 24,513
ol 2| 736,388 711,875 24,513
101 124 dl 709,928 682,895 27,033
01 2= 652,408 629,537 22,871
oss 447,758
-5= 3,976,100& » 198 128 47,714
-6= 3,235,800& » 2 » 128 77,660
-72 2,288,700& » 598  12& 137,322
-8= 2,340,800 * 39¥ » 123 84,269
-9= 1,399,900& » 6F » 12& 100,793
OZz2+¢ 447,758,000& * 0.8/12 29,851
Ois=¢ 30,0003 = 178 = 2.269H » 128 13,832
OXHEHIEx+¢ 3,591
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chel: ol gyl CEEEED
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
-nSstn
352,020 * 1798 = 0.15Y « 43| 3,591
(OF =) PN = 11,640
- 20 Of & 100,000& = 5Y = 12&€ 6,000
- 108014 159012 60,0008 *x 7 x 12& 5,040
—-5E 04 10 0] CF 50,000& * 14 = 12& 600
Oolag< 30,0008 » 8Y¥ x 12& 2,880
OAEEXNE2E 70,000& * 5% = 12& 4,200
OMIEXNLERYIHAZ
30,000& * 4% = 12& 1,440
OsHs22sY 70,0008 = 16Y¥ * 12& 13,440
OANZ2tAZ22Y 42,219
=1 11,3643 ~ 1 = 25A|2t = 128 3,410
-63 9,692& * 2% x 25A12t = 12& 5,816
-72 8,754& x BH x 25A12F + 12&8 13,131
-82 7,860& * 3H x 25A|12 x 12&€ 7,074
-93 7,104& 6" x 25A12 ~ 128 12,788
O&HZ A 130,000 = 1798 * 12&€ 26,520
(@)= FE=l ] 447,758,000 *« 1.2/12 44776
OH I Aldl 447,758,000 * 86% * 7/30/12 7,488
O3 2,773
-5 U=
3,276,300 * 4.1% » 14 » 12& 1,612
-62 U=
2,358,300 * 4.1% » 1€ » 12& 1,161
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OXz g ol2dH| 27,413
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-Y &S| 1,340,000& = 0.6 » 23| 1,608
— I A 1,600,000/209 * 8AI2t » 7L 429
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-J|Lxd 1,260,000 » 43 0| 5,040
-IEY 60,000& * 12& 720
- dHZAH| 130,000& = 12&€ 1,560
- WS 2 Xt 130,000& * 12& 1,560
- Y& SFOHY| 1,260,000& = 0.6 » 23| 1,512
— I A 1,520,000/209 * 8AI2t » 7 408
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M HY2IIH (Mors)
& o 2d| (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
ENFEECEN=
1,520,000/209 * 1.5 = 27Al2t = 12& 3,535
- MHEEE 29,455,000& = 1.24% 366
- = gl 286
204 AR A H| 26,460 28,980 A2,520
02 g2 Xl 26,460 28,980 A2,520
OFSF= 3| 26,460
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-6= 155,000& * 29 » 123 3,720
-72 140,000& » 5F » 12& 8,400
-8=~92 105,000& » 99 » 128 11,340
|23 bl 131,773 161,311 N 29,538
JlE2&l 131,773 161,311 N 29,538
201 £B-2E| 70,393 77,351 N 6,958
01 At 22l 32,233 37,756 A5,523
O el 23,302
-JIE AR ESHI 7,300
- JIEt==Z 4l 6,500
—SOoIBHIAIAE & CCTV 22/H|
200,000& = 12# 2,400
- & erd 2tel 246,800& « 123 2,962
-&&J| erd el 135,000& * 128 1,620
—ZU2FAAE 22/l 60,000& = 123 720
—AgAIEAUY =5
150,000& * 122 1,800
OO0kt & S22 2L =4I 8,211
Ogxsg 30,000& * 23| » 12& 720
02 =24l 38,160 39,595 A 1,435
OEMAIIRS 1,500,000& * 128 18,000
OHdt=ER3 300,000& * 12& 3,600
ORERS 1,300,000& * 12& 15,600
OsgME=RE S 80,000& * 23| 160
OQusrse=Es 200,000& = 13l 200
O&F3x #EA 300,000& * 13l 300
OsEA =283 4 300,000& = 13l 300
202 ¢4 tl 40,800 51,840 A 11,040
02 M0 40,800 51,840 A 11,040
O HNH| 200,000& = 179 128 40,800
203 YR =& 12,780 12,820 A 40
01 1228 =4H 7,900 7,900 0
OJlZ2g 2= 7,900
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